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—E2dE 3,000& = 3kg » 300 2,700
— A3 (A 503 + 1,000kg * 3002 15,000
— QA 1,1002 » 5kg » 300 1,650
307 QI2H0IF 11,700 11,700 0
05 2IIRAE =S 11,700 11,700 0
O] HI&HH Hdel 260,000& = 45& 11,700
BEHelANE 23 258,141 357,080 A 98,939
201 LetIH| 66,677 47,577 19,100
01 AtR22ltl 61,077 42,577 18,500
Ogt==2H| 14,077
—MeDIMelE =Z2HAM =2 13,477
B A 364,100& * 23| 2 4 1,457
YF= =EHA 331,000& * 123 * 20 7,944
HEAlIE =9 X6t ZA 169,800& = 300 * 43| * 20 4,076
—=Z2AM HeE S 3,000& * 2004 600
Oex= 47,000
—&E+ SN AXH(EA) 20,000,000& 20,000
—s52 0l H™eldl (o) 90,000& * 300& 27,000
02 =234l 5,600 5,000 600
OAEZ IS X 5,600
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SN BFOED
By HOI2 KR 2L Hel
X

SRl A0 Meld 2l (et H)
A B S(E) - NRAY - BES 0f & o e HIDZ2

—dEsHAANE SX22HI(2H) 700,000 = 8CH 5,600

206 M =Hl 60,451 43,350 17,101

01 M=zHl 60,451 43,350 17,101
OB E+HelANE A4EFFY(ER) 22,684
—Z 3t H2E 1208 » 200kg » 365 8,760
— R AA 4537 = 200kg * 365& 3,285
— €A 3,000 * 10kg * 200 6,000
— XA 2,000% * 0.2kg * 365¢ 146
—SZ M 4,000& = 1kg » 365 1,460
-y 2dE 2,000& = 500kg * 22l 2,000
—SaH 5,000& = 0.5kg » 365 913
—PHE ALK 5,000& = 204 ~ 123 120
OFE+HelAE 457 (H0}) 37,767
—Jtg A0 2303 = 150kg » 12 414
— &t 115&  3,000kg » 12 4,140
—2cld A 9,460& * 2,920 ¢ 27,624
—2cidl C 9,460 = 240 ¢ 2,211
—JtECIXIEH 6,000& = 5534 3,318

401 AIZHI X2 131,013 266, 153 A135,140

01 AlZHI 131,013 266,153 135,140
O& &= ROAE =X22| 131,013
—gEs, gy Wi 75,701,000& » &A13] 75,701
-85+ R0 A2F 7Y 33,212,000 » 13 33,212
—Ss0tlE 7 10,100,000 10,100
— g2t FXE=H] 12,000,000& * 412 12,000
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SN BFOED
By HOI2 KR 2L Hel
X

Sol: M0 HelF el (el 2
- _ _ NUE &
SN HY-S(BH) - NN - BLS 03] & o4 i RS2

HIISHelAlL =8 sIfolA 30,738 1,087,496 A 1,086,758

201 Yer2ey| 2,800 4,800 A2,000

01 AtR2telt| 2,800 4,800 A2,000
Osg+g 2,800
—HDISHeIAE =8 FoXASAM 32+ 2,800
ZOXAEOIM (LX) 70,0008 * 7% * 23l 980
Z=QIX 2B OI3 (R0} 70,0008 * 133 * 23| 1,820

203 YR FAY| 800 1,000 200

03 AN YREAY 800 1,000 A 200
OMYDIMelH =8 Slaf4dR £ 200,0002! * 43 800

301 LerE Az 27,138 26,646 490

12 JIEtR A S 27,138 26,646 490
OMIIMeIY FOUBARY 243 46,789 * 2902 * 2 27,138

MEMY I AZAL AX 40,000 2,333,500 A2,293,500
= 40,000

401 N&HIYL2 Y] 40,000 2,333,500 A2,293,500
= 40,000

01 Al&l 40,000 2,257,000 ~2,217,000
OFER HIIS A2ANE &I AL 40,000,000 40,000
= 40,000

ST HEAE 22 308, 106 6,706 301,400

201 Yer2ey| 6,706 6,706 0

01 At22telt| 6,706 6,706 0
OFTEIER =1t 6,706
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SN BFOED
By HOI2 KR 2L Hel
X

el Al Meld 2l (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
—ANEBEZ HEE 2el 6,706
YF= =HHA 331,000& * 43| 1,324
Kot =& HAt 169,800& * 3L * 63l 3,057
NE= =2HA 241,200& * 20 * 43] 1,930
- ESXA 394,500 * 13/ 395
401 A &HIL 204 301,400 0 301,400
01 Al&HI 300,000 0 300,000
OANESZ MHEE FHI 100,000, 000& 100,000
OFEZMYIIMelE =8 EX 200,000,000& 200,000
03 AIZ=20bl 1,400 0 1,400
OANEsZsz iHgdE dl 1,400,000& 1,400
FHEE X4 1,439,391 1,314,413 124,978
Mol EYEI 2E 144,544 95,160 49,384
101 Q14| 38,384 0 38,384
04 JIZHMIZ2XEE =+ 38,384 0 38,384
OgZ=ZXNEd 38,384
—Jl2= 33,000 » 3H » 200 28,710
— 52 33,000& * 38 * 41 4,059
— S 33,0008 = 3H * 41 « 0.5 2,030
—4E2E= 34,799,000& * 0.103 3,585
201 LBt 3| 88,760 77,760 11,000
01 AtS 22l 81,400 70,400 11,000
Oget=gH| 80,200
—MADISEH #E3=2§ 7L 1108 = 600,00004 66,000
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A SHAME L
3 W=
=

ool HyE =y (el 2
_ — XN -
SN-FH-SA(SA) - NEAY - BES Off & OH 01,‘35‘; HnsZ

—ZYNES STHE 300,0002! * 1304 3,900
—RAZSEAE 22 AEH 2002 * 10,0000 2,000
—HEEIIS AEIH M 15090 * 2,00004 300
—MYIIZ2YE)| 222 M 1,000,0008 * 23l 2,000
—2 A3t OIS &b 400,00080 * 3CH * 53] 6,000
ouxa 1,200
—2¢ HYHIIS 2RI X2 400,00020 * 3CH 1,200

02 2=l 7,360 7,360 0
O2BBRI & AA 6,360
—2AIZHIR QIEIY AR 350,0002 * 122 4,200
—2AISHIR ®OIR3 20,0002 * 9CH * 12 2,160
OA&EEIS Y 1,000
—2AIDt0IeH el 250,0008 * 48l 1,000

202 01| 5,400 5,400 0

01 =LHoiHI 5,400 5,400 0
OMEDIEHE)| YRx 150,00080 * 3% * 128 5,400

301 LeHE AR 2,000 2,000 0

12 JIEtR A2 2,000 2,000 0
OMYDIEHEI| MDA 2,000,000%! 2,000

307 ©I2t0I M 10,000 10,000 0

05 BI2tRIEt3 10,000 10,000 0
OHDIZ 2= Xl 10,000,000 10,000

SRHEAX RA2e 29,410 31,800 A2,390

201 Ysre | 29,410 31,800 A2,390
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A SF L
I Holg s 2 HMel
el NRATHE S EEREED
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
101 el 256,867 234,815 22,052
04 JIZtMIZ22XSE =+ 256,867 234,815 22,052
Ogd MHess 2 256,867
—Jl2a 45,9403 » 1494 » 200 186,517
— 52422 45,9403 » 1498 41 26,370
—40f B2 212,887,000& = 0.103 21,928
—E XY 45,940« 120 4 H 22,052
201 Yer2oy| 46,220 46,350 A130
01 AtE22|Hl 38,300 46,350 28,050
Oget=g| 38,300
— M| HHEEA HHE 50,000& * 5004 2,500
—Hasg +SEI(PPEN) P 3502 = 10,0000H 3,500
—NHE=2E 222l 7L 5,000& = 100K 500
—SAEMYI dEHED #E 50,000& * 3004 15,000
—HblE&otE =X2 600,000& * 14J4 2 * 23] 16,800
02 =234l 7,920 0 7,920
OZ232= ¥ MAl 3,120
—dE M) SeoteA &8II= 60,000& = 20 & = 128 1,440
— MM SESIRA ZAIDtHE CIHY AtEZ 70,000& * 2JHA + 123 1,680
OAl & &EHI=XIbl 4,800
—dMEMe D] 2oL RAES 200,000& * 294 + 12& 4,800
202 O4H| 1,800 5,400 A 3,600
01 =Wl 1,800 5,400 23,600
O=UWaH 150,000& = 1 * 128 1,800
303 L&z 18,000 1,200 16,800
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SN BEAMYD
M Hol2 Res ¥ M
Sol NRATHE S EERED
- _ _ XN -
SH - EB - S(BH) - MBAY - BES 0l & 24 e BB
01 Ea3 18,000 1,200 16,800
OMBe & JIFY 1| L 2T2I0t LLSH AAS 1,200
—zes 500,002 * 14 500
9% 300,002 * 14 300
— & 200,0002 * 2} SO 400
O soely 28 A3 1,200,0008 * 142 16,800
401 AlEHIL LT 37,800 0 37,800
01 Al 37,800 0 37,800
oMM D 2RGSA MR 37,800
—22steAs 7ES &3 15,000,002 * 274 4 30,000
—2olE=3tHe &3 2,500,0002 * 2JHA 5,000
Y PIET:| 1,400,00091 * 24 2,800
WEEE 4T A3 80,000 131,800 ~51,800
301 YA 80,000 115,000 £35,000
12 JIEtR &2 80,000 115,000 235,000
O=9g HHlY =2 X (HEY S 1,008) 80,000,000% 80,000
WEEE dgAs 25 46,640 80,000 33,360
201 Y2yl 46,640 0 46,640
01 AL/t 17,640 0 17,640
Ot 17,640
—HESE HUSE(HY, R UR S) 10,0008 * 55 * 43| 2,000
~THERE d2) SN2=(Z8II, 48)| S) 500,008 * 55 * 43l 10,000
— g, XX “elul(H0) 1,000,000 * 2CH 2,000
WSS 2sM 7Y 1,908 * 600kg 1,140
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A SF L
M2 BANY
chol: 2R (==L
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
= 226,929
101 14| 30,249 26,114 4,135
04 JIZHMIZ2XEE =+ 30,249 26,114 4,135
OU=HEZA 5 TASIA AL 2R 18,200
— Q2| 33,000 x5 100 16,500
—4EE = 16,500,000 *0.103 1,700
O=stE e 2= 12,049
— Q24| 33,0003 > 1% » 200 9,570
—RE5dsY 33,000 » 18 » 41 1,353
—4JUEE= 10,923,000& = 0.103 1,126
201 Let2HH| 29,700 25,000 4,700
01 AtE2clHl 2,800 2,000 800
Ogt==H| 2,800
— NS wWH ¥ S =A 300, 000& 300
—SE e FHbl=elHl(SEI101) 300,000& 53] 1,500
—S3et S =% HH 100,000 100K 1,000
02 Z==234l 26,900 23,000 3,900
OZ232= ¥ HAl 20,400
—233% HIIL=s 8 1,200,000& * 12& 14,400
—JUANSEX M2z 500,000& = 123 6,000
OA&EZEHIS X 5,000
—SANZSEUH A2 AMEE B 5,000,000& 5,000
(@) K=3:] 1,500
-0l S 300,000& * 53 1,500
401 Al&HI YL =R OHYI 246,980 50,000 196,980
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A SF L
M2 BANY
Sel: 2T CERE
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
< 80,000
= 166,980
01 Al&H| 245,000 50,000 195,000
OZMTAISH EHHl 210,000
— & AIZ A 15,000,000& 15,000
— A& H] 195,000
GAARR =M ZUISAH(OI2EX, &2 SEH F) 150,000, 000& 150,000
= 80,000
= 70,000
- s =3 3.1 Fl 30,000,000& 30,000
- NS =3 Sdl oL Fhl 15,000,000& 15,000
OEANZE |2+ 20,000, 000& 20,000
OEANMZE MEALE=S £X 3,000,000& * 5 15,000
03 Al&=R0HHl 1,980 0 1,980
OZSLTZAISE ZHIALY 1,980,000& 1,980
sE =T 2 18,109 18,109 0
101 el 8,109 8,109 0
04 JI2tHIZ2E2NHEE S 8,109 8,109 0
OLEF AL 2l 8,109
— Q2| 45,9402 » 2H * 80 7,351
—4UEE= 7,351,000& * 0.103 758
401 A EHIL 204 10,000 10,000 0
01 Al 10,000 10,000 0
Oug=d LFAMEE2 WX B 10,000,000& 10,000
AXH HHAseSy =4 200,000 0 200,000
& 100,000
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X XH -
S Tt

el

0 OB ik
[0 o0 oY

U
&

0 =2 rx
ne o

==

Eﬂ

40
o
10

SN B EP(EH) - HIRAN -

2=
Je

2 (A
R
J2H

Ol

==

A H

30,000
70,000

402

HoH oo

200,000
100,000
30,000
70,000

200,000

02

200,000,000&

Moo

200,000
200,000

100,000
30,000
70,000

200,000

>

o
>
0
oy
toh
o

0x

MOH A 0

7,110,355

1,489,566
510,336
4,930
623,338
4,482,185

7,441,169

/330,814

Mo

1,738,840
457,602
141,165

1,140,073

1,556,287

182,553

777,849

182,233

595,616

508,913

5,068

503,845

It 2 2XEE+

Odt=ZAIE

33,0008 * 652 * 210
450,450,0002 * 0.103

50,000& * 659

508,913
500,097
450,450
46,397
3,250

5,068

503,845
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SN e
I METALEEY
Cel: MEES (ee:&d
= — — NH
FA - A(R) - HRAY - BES Ofl &F <4 Omﬂa HuWSZ
05 RXICSHZIEES 167,255 152,050 15,205
oglaxeea 167,255,000 167,255
401 Al &HIZ 2T 20,000 0 20,000
01 AlZH] 20,000 0 20,000
OMETaHS M A (10ha) 1,000,0008 = 10ha 10,000
OSd A=22485 DHEX 2,000,0008 = 14! = 5SS 10,000
405 THatF SHI 8,500 3,200 5,300
01 AR EEFSHI 8,500 3,200 5,300
Ooxsg JIAS, oxIl 2 1,000,0002 1,000
OU=ZAIE OIEXE s28 &7 7Y 300,000& = 25CH 7,500
AELTHH(EX) 518,096 890, 155 A372,059
= 207,220
< 92,953
= 217,923
101 24y 284,685 796,155 511,470
= 113,874
< 50,947
= 119,864
04 JIZH22UELE > 284,685 796,155 511,470
Oa=d 20L& 2t (469) 284,685
— oIl 272,835,000 272,835
= 109, 134
< 48,814
= 114,887
—xE+g(59) 50,0008 « 5% « 53 1,250
= 500
< 225
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SN UMD
M MR YERA
ol AR E el e
SN BB SR(S) - MRAY - BES skl e s
01 M=H| 720 675 45
O&SXE A5teM 2L 4,5008 * 160 £ 720
2 270
& 122
= 328
401 A EHIL 204 182,741 0 182,741
2 73,096
= 32,893
= 76,752
01 Al&H| 182,741 0 182,741
OSZAE2FH 0/232F =4(3ha) 12,741,000& 12,741
= 5,096
= 2,293
= 5,352
Ott= RolZHAIStoIet AXI(1oH) 160,000, 000& 160,000
2 64,000
& 28,800
i 67,200
OMERHASASAH IJNIXZ(1H) 10,000,000& 10,000
2 4,000
= 1,800
= 4,200
405 XtobE SHI 18,500 65,400 246,900
2 7,400
= 3,330
= 7,770
01 TN ESSHSHI 18,500 65,400 246,900
OfHI 72¢ 800,000 * 3CH 2,400
2 960
& 432
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SN AR
HE: MUY T
el MElES SEREL
- _ NE
SN HH - C(B) - MBEAY - BES Aol il it o =2
= 1,008
OJIAH st = & Bt A AEY 7,000
— 48 (204) 7,000,000% 7,000
2 2,800
= 1,260
= 2,940
Ot 2 AIA X2 HAIAE(65CH) 9,100,000& 9,100
= 3,640
= 1,638
= 3,822
AHHHES M (XA 16,791 20,400 A 3,609
201 LBt 3| 6,491 10,100 A 3,609
02 2zl 6,491 10, 100 3,609
OAl & EHI= Xl 6,491
— e g E HEYMY LI RFH 1,409% %10 £ 300 4,227
— AU MESE M S5 1,6173 » 504 » 7AI2t » 40 2,264
206 M=l 10,000 10,000 0
01 M=H| 10,000 10,000 0
OaxURMEasE 2Pl XA 10,000,000& 10,000
301 et24 = 300 300 0
12 JIEtB A 300 300 0
OAURMESE MIX Z&3 100,000& * 33| 300
MEYEES YN WX (BER) 251,810 234,552 17,258
2 147,846
< 28,372
i 75,592
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M
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x
2
20
R
J2H

101 Q1A 167,986 166,835 1,151
81,287
23,460
63,239

o

04 JIZtN22XsE4 167,986 166,835 1,151
NS Ol 22 HRISH(2IHE) 158,777
| 158,777,000 158,777
74,951
22,603
61,223
OAUSMAEEY TH= M H(3002) 7,990,000& 7,990
5,706

680
1,604
OXI AL QIAHI (5S4 10ha) 1,219,000 1,219
630
177
412

M MW

M

201 Zet=&Hl 11,644 0 11,644
5,497
1,658
4,489

H

01 At 2t2ibl 11,644 0 11,644
L= 11,644

—AHHENE HEF LM NS 11,644,000 11,644
5,497

1,658
4,489

M

206 M= dl 30,080 0 30,080
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27,440
712
1,928
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A
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Ofh

LRI 2 (2

B STYRAH T

5,000,000&

25,080,000&

H

H

30,080

5,000
2,360
712
1,928
25,080
25,080

30,080

401

A2 Hl

ol

=

Sl

W

27,369
24,659
813
1,897

55,256

A27,887

01

A2 HI

OAUSRMHEESE LISFAH(10ha)

27,369,000

MW

27,369
27,369

24,659
813
1,897

55,256

N27,887

402

MW

7,982
5,588

718
1,676

6,461

1,521

02

7,982,000

H

7,982
7,982

5,588
718
1,676

6,461

1,521

405

6,749

6,000

749
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SN AN
HH: AENAYSRY
el pRIE S chel &
- _ _ NE
SN H SR (8H) HyS Ao il it o =2t
=2 3,375
& 1,011
2 2,363
01 HaUSEH S| 6,749 6,000 749
OJlHe & s8d30 2 (90h) 6,749,000& 6,749
= 3,375
& 1,011
= 2,363
254 FHl A 3,400 2,779 621
101 14 H| 2,000 1,379 621
04 JIZtMZ22XSE+ 2,000 1,379 621
OBs+ NS Q12| 66,6602 * 3% * 103 2,000
206 M=l 1,400 1,400 0
01 T2l 1,400 1,400 0
OB+ &M 24H-7L 14,000& * 1004 1,400
MEAHIASE 170,8% 0 170,894
2 102,536
= 19,840
i 48,518
101 14| 167,706 0 167,706
= 100,623
& 19,457
= 47,626
04 JIZtHIZ22HEsE+ 167,706 0 167,706
O=2Z T A (2Y) 28,144,000& 28,144
= 16,887
& 3,377
= 7,880
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ol MRIES (ct9: & 2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
OurglE2s2s A (17) 83,273
— ol | 83,273,000& 83,273
= 49,962
L= 9,326
i 23,985
OSaketel(2y) 28,144,000& 28,144
= 16,887
= 3,377
= 7,880
OZAl=sX 22 (1Y) 14,072,000& 14,072
2 8,443
& 1,689
= 3,940
OstW=2CIHIOIE (1Y) 14,073,000& 14,073
2 8,444
& 1,688
= 3,941
201 B3| 1,630 0 1,630
= 978
& 196
i 456
01 AtS 22l 1,630 0 1,630
(@)K=3:] 1,630
—MEES AT ALY 1,630,000& 1,630
= 978
L= 196
= 456
202 O4Hl 1,558 0 1,558
= 935
= 187
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5,900
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3,780
8,820

18,000
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,321,395

736,194
165,055
420,146

1,807,724

A486,329
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16,853
10,112
2,022
4,719

16,853
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S
v
=

U
>
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O
S
o
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>
M
02

OLE EAME /€W =FH|

15,773,000&

1,080,000

M

W

16,853

15,773
9,032
2,022
4,719
1,080
1,080

16,853
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AEHIRL 2O

H

—_

,304,542

726,082
163,033
415,427

1,790,871

A486,329

01

A& H
O=Jt¥I1 At (1,000ha)

1,001,606,000&

—_ .

,249,498
,001,606

1,720,612

A471,114
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588, 364
129,981
283,261
OZEX AL=22l(660ha) 247,892,000& 247,892
137,718
33,052
77,122

02 Zcldl 55,044 70,259 A~15,215
O= It A 55,044,000& 55,044

MW

M

grel&EFE =0 257,254 381,991 N124,737
156,656
30,179
70,419

M

202 O4Hl 2,690 3,993 A 1,303
2,690

H

01 SUWHYI 2,690 3,993 1,303
OgxelEE =137 = 2,690,000& 2,690
2,690

W

402 2I2bXHE01M 254,564 377,998 N 123,434
153,966

30,179
70,419

W

02 CIZHCHEAFZHI 254,564 377,998 N 123,434
OgXelEE =I0t37I| ALY 254,564,000 254,564

153,966
30,179
70,419

W

SHore & 8,960 0 8,960
5,640

H
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SA: BHAD
o MRS S
Chol: ARl AW A3 GCERE
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
= 27,504
=2 4,930
L= 19,228
= 82,627
401 Al&HI LS OHYI 134,289 0 134,289
= 27,504
= 4,930
& 19,228
i 82,627
01 Al&H| 134,289 0 134,289
OB s+ HUlAL(102) 42,610,000& 42,610
= 4,930
L= 2,680
i 35,000
OS&2 Hl(3km) 91,679,000 91,679
= 27,504
= 16,548
= 47,627
MEE A 642,903 764,373 A121,470
2 77,620
= 300,336
L= 54,337
= 210,610
A AHM 375,420 411,100 A 35,680
& 300,336
= 37,542
= 37,542
401 Al&HIZL=ROHYI 375,420 411,100 A 35,680
& 300,336
& 37,542
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37,542

01 Al£Hl

O A=
— & A& AHHI(11.7km)
— A& H]

- A AIA(0.7km)

14,695,000

140,641,000

372,841
372,841

14,695
358,146
140,641

408,277

A35,436

112,513
14,064
14,064

- RN (2.37km) 181,505,000 181,505

159,023
19,878

2,604

- A EE 5= (7km) 36,000,000 36,000

28,800
3,600
3,600

03 A2 R04Hl 2,579 2,823 A244

OeE AL 358,146,000 * 0.72% 2,579

M HY OR M HY o8

M H oY

TEAMY XE 133,561 204,779 AT1,218
77,620

16,795
39, 146

A

201 LEH2 | 750 0 750
375
113
262

W

] 750 0 750

=
St 750
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B
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0

SA - HE - SR(3) - HRAY - BAS of Bl

x
2
2 (A
R
J2H
0l
N

— I HH s:HI 750,000 750
375
113
262

M

401 AIEHIZ 20 96,515 179,408 82,893
53,459
12,929
30,127

H

01 Al&H] 90,792 175,223 84,431
OZF A 90,792

— &I Al & 3/ H] (35ha) 4,950,000 4,950
3,465
445
1,040
— Al& | 85,842
- 2 R4 (28ha) 45,304,0002 45,304
27,382

5,607
12,315
- MEfZ=2 (10ha) 5,956,000 5,956
3,800

647
1,509
- Z4Z M= (5ha) 10,970,000& 10,970
6,470
1,350
3,150
- 2US(1ha) 3,602,000 3,602
1,081
2,521

M

A W M H

Mok
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£
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0

SA - HE - SR(3) - HRAY - BAS of Bl

x
2
2 (A
R
J2H
0l
N

- 22 (1ha) 11,146,000& 11,146
4,205
2,095
4,846
- HlZ2=D|(4ha) 864,000 864
672
58
134

- 232l AP (101 A) 8,000, 000& 8,000

4,000
1,200
2,800

02 2eldl 4,950 4,185 765
O A 4,950,000& 4,950

3,465
446
1,039

773 0 773
773,000 773

W M

H

M

03 A

==

i

O
Btz
o
= &2
e

402 &l

r
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it

ors 20,296 25,371 A5,075
15,786
1,353
3,157

W
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=
o

20,296 25,371 25,075
8ha) 20,296,000 20,296

15,786
1,353
3,157
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B H
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O
P
0
N
J00
HM
>
P
i

MW

405 Xt

=
ﬂ
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=

16,000 0 16,000
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SN BAAYD
M MR SHFH
CHol AEIXE EA (Sre:®e)
- _ — NE
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB
= 8,000
= 2,400
= 5,600
01 Rt SZH S| 16,000 0 16,000
OYAINH HHES 8,000,0002! *2CH 16,000
= 8,000
= 2,400
= 5,600
AFETH O 0l 2 133,922 148,494 A14,572
308 XiXlEHHISOIH 133,922 148,494 A 14,572
05 REXIGHH 222 133,922 148,494 A 14,572
OAEEAY 133,922
—28 2 (5kn) 191,000,0002 * Tkm * 9% 17,190
— At 250,000,008 *5IHA * % 112,500
—AME E=A(1042) 7,000,008 * 404 * 9% 2,520
— AbEEARES BRSSO} 3,986,0008 * 404 * 9% 1,435
— AbE 2 (2.0na 420,000 * 2ha * 4.5% 38
— At = 442,00021 * 6IHA * O 239
=X EYA RS AL 2,942,814 2,755,215 187,599
= 210,000
= 198,000
= 2,534,814
MBS =3 U ALE Rl (XHH) 1,203,813 808,373 395,440
101 21244 880,642 665,079 215,563
04 JAM2EXNS B4 830,642 665,079 215,563
ORERYINRI| AS2L 830,642
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—=X&EHSH(HE 41,888
ol 24| 68,000& » 2% * 280 38,080
S22RE 68,000& * 2¥ * 28 3,808
— =X SH(ASE) 579,040
eI2A4d| 47,0008 » 40F = 280 526,400
S22 47,000& » 40 » 28 52,640
—22, Z34 AEZ2(2) 44,550
o124l 33,0003 * 159 * 90 44,550
—22, 234 AFZHE(SY) 83,160
21244l 33,000 » 2H * 14052 » 90 83, 160
—SIEX A= 2tel 29,700
o124l 33,000&  15% » 60 29,700
—4EE = 778,288,000& * 0.103 80, 164
X & off 2 &t 15,000,000& 15,000
—I=sH(=sX3 7,140
(PSS 30,0008 * 42N E 1,260
otd 5t 2l 55,0008 * 42= 2,310
HM A= 85,000& * 42%f 3,570
201 LptEHH| 110,589
fzteltl 52,590
Oget=g| 6,890
—=sXEHe PR S 3,040
&f 5,000& = 100K 500
20| 4,000& * 5004 200
= 9,900& * 1004 990
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A SHAME L
M NN SA
ool =X HEAIREAY (69 &2
A B S(E) - NRAY - BES 0f & o e HIDZ2
—=X&EH AEEH =FUH 19,967
- S | 1,4108 » 104 ~ 30¢£ » 100& 4,230
JIAS, XS 1,618& = 100H  4AI2+ » 100 6,472
- Ol 0 1,618% = 10CH » 4AI2F = 100 6,472
20| 1,4373 = 100 = 4AI2H 24 » 50 575
&Il & 22 1,618 * 504 = 4AI2H » 50 1,618
A wet 4,0008 * 30CH * 5& 600
—RHHA22E ERH RFU 1,4108 » 100 » 604 » 90 7,614
—=sXNEHE RFH 20,818
NI 1,4373 = 10£ » 504 » 280 20,118
A et 35,0008 = 43| = 504 700
202 OdH 9,600 7,680 1,920
01 S 9,600 7,680 1,920
O=sXXZZANE SRFA 20,0002 * 48 = 10& = 122 9,600
206 M= Hl 103,572 84,592 18,980
01 MZ8l 103,572 84,592 18,980
OFEFEINRI NN 7 28,772
— =30+ 78,0002 » 509 A 3,900
—=5& 58,500 » 502t A 2,925
—=3HH0lZ 67,0008 » 509f A 3,350
—=SAFSHE 35,0002 * 508t A 1,750
— 024t 5,000& = 3002 1,500
-2 27,500& * 1508 4,125
—E2 28,6003 * 209fA 572
— 20X 90,000& = 1094 900
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A SF L
M NN SA
ool =X HEAIREAY (69 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
— & X0t 35,000& = 5004 1,750
AR =1 70,000& * 2004 1,400
—XZANEE2(SH) gRE= 66,000& * 1008 6,600
OJzs ¢ TS g SUd oM P (4EH, = S)
15,0003 = 3008 * 53] 22,500
Oxd=5 & 2 J2H +Y 12,0003 = 2509 * 23] 6,000
O== % =3t &l 29,800
—d4EE 2 8,800&  1,000%£ 8,800
—X2dE Ng=gtdlz 22,000& * 5002 11,000
— S =EH| 5,000& = 2,000% 10,000
O== I3 ¢ 10,000& * 500 5,000
Ox== sZ&J| 2l 7Y 11,500
—=== golEs Z&| 5,000&  1,5000H 7,500
—SoeX HAE 2,000& = 2,0000H 4,000
301 LetEas 4,500 4,200 300
10 HALAHIZ &3 4,500 4,200 300
Osoidlt 24 A= 4,500
— &=l 500,000& * 69 3,000
— WSl 250,000& * 6 1,500
401 Al&HI LR OHYI 85,000 0 85,000
01 Al&HI 85,000 0 85,000
O0lY =5 T2H A33XH 20,000,000& = 1JHA 20,000
Oiz= &HE 30,000& * 500= 15,000
Otz SBA(0I2~UHE, Rz, 23 Ad) 50,000& * 1,000 50,000
405 XtobE SHI 9,910 2,500 7,410
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S BB
Ha: NANALESY
Sol =XUEYIRZAIL (ete: &
- _ — NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB
01 HAYLSEHSH| 9,910 2,500 7,410
OJIHE 7 500,00021 * 3CH 1,500
os=uHI P 300,00091 * 5CH 1,500
O3 HMAHII 7 1,970,0002 * 3CH 5,910
Os=EFI| 7Y 500,0008 * 2CH 1,000
MEZEH =3 U NS (2X) 110,000 713,850 603,850
= 45,000
2 65,000
401 Al HIL 2RI 110,000 713,850 603,850
= 45,000
2 65,000
01 A&l 110,000 707,427 597,427
OMEZH =3 o AF22 110,000
— Al & 110,000
MEBZ =g U AR 22| (402H2) 50,000,0008! *144 50,000
= 15,000
2 35,000
FEYN SMBZL ZH(2HL) 60,000,0008 *1JH A 60,000
= 30,000
2 30,000
HEHEH 931,000 367,000 564,000
< 90,000
= 841,000
203 PRETH| 1,000 2,000 A 1,000
03 AlZ{ZXDET| 1,000 2,000 A 1,000
ORSZINPIINY FT 10,0002 * 103 1,000
401 AlEHIL 2RI 930,000 365,000 565,000
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SN BN
HE: NYTRLEHEY
ol SRUESI AT EAY (ol @2
- _ _ XN -
SH-EH . S(3) - MBAY - B2 Ofl & 04 e HRZ2

& 90,000

= 840,000
01 Al&H| 930,000 365,000 565,000

ontsgy =4 25,000,000& * 330H=H 825,000

R Y STHALES YLy 300,000 * 50742 15,000

OFY st2I0t2 IS4 (W AIAY) 0,000,000%4 10,000

= 10,000

OdANOIE HHEL(HEA2AAY) 20,000,000& 20,000

& 20,000

OstHole e (MHEHAAY) 20,000,000& 20,000

< 20,000

OOI&OIE FX 2B (HH A A 10,000,000%4 10,000

= 10,000

OHA HDOIS HEEA(WEAIAL) 10,000

& 10,000

Odtol=20t2 428 (MEH2AAY) 20,000,000& 20,000

= 20,000
22 - 234 X4 168,000 170,000 A2,000
401 Al&HI LR OHYI 168,000 170,000 22,000
01 Al&HI 168,000 170,000 22,000

OZ3H4HE) AT 35,000,0008 * 23] 70,000

O8 - -¥ Z2LXH(14SYH) 98,000,000& 98,000
SSsZMAX SIS =4 110,000 100,000 10,000
401 Al&HI YL S OHYI 110,000 100,000 10,000
01 Al&H| 110,000 100,000 10,000

OSRMELX Z=4H(40ha) 110,000
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SN
X ZH -
S Tt

=l

Iz o
210U oY
LA

o0

|m o g

i

0
F
10

0z
Jo
>
12

20

R

12
(]

==

1,500,000& * 20ha
30,000,000& =+ 1A
20,000,000& =+ 14
10,000,000& * 32

— 3

30,000
30,000
20,000
30,000

M H OR

420,001
210,000

63,000
147,001

420,001

M HY o8

420,001
210,000

63,000
147,001

420,001

402,106,000& * 3.73%
402,106,000

M H oY

402,106,000 * 0.72%

417,105
14,999

402,106

210,000
63,000
129, 106

2,896
2,896

417,105

2,896

e

i

S(

o

325,000

A 1,225,000

LHEHH XIS (

325,000

A 1,225,000

(O]

LHEHH XIS (

325,000

A 1,225,000

325,000

A 1,225,000

r

25,000,000

325,000
25,000

A 1,225,000




SN BBAYD
H: HRBS (B
Sl LIS RIS (22D (25 &2

CERI(BI) - MRAR - A e ==
OmHJI=SHMelAlE =8 =2X3 300,000,000& 300,000
HH2AAH(2F) 49,900 57,480 AT7,580
E2H (3 ag 5,400 7,260 A 1,860
olERHH(&3 5,400 7,260 1,860
203 YR =& 4,200 4,200 0
04 A2 R 4,200 4,200 0
OFM2EL R4 350,000 »12& 4,200
204 MNP 1,200 3,060 21,860
01 Mo H IRt HH| 1,200 1,200 0
OXMHg R4 100,000& =123 1,200
23 (8348 ) 44,500 50,220 Ab,720
=t (&3 44,500 50,220 A5,720
201 fer2gl 27,700 29,820 A2,120
01 AtR 2 27,700 29,820 N2,120
Oget=2t| 11,200,000 11,200
Ol=4=1:] 5,0008 = 2568 » 11& » 123 16,500
202 04 16,800 20,400 A3,600
01 SO 16,800 18,000 A1,200
OJl=gR=d 50,000&  28H * 128 16,800
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